[ Efficiency vs vertpos |
- 05

Y SR S S— —

2 : : : :
U o e

(8] F . . .
§0.35F - reeeivreneneen e R

s F : : E
5 03 EE o C
0.25F oo {-ieeeeenene e R
0.2F - fireeepeeees SRS e
048
08 201 SN S0 IS S A—

0.05E- TT- bl oo A

1.0

Ratio
=
= L
H
-
4
o
-
1
.
M

0.95 : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit100PIXLLNO__RECO
Efficienq —— pom_v0001_R000000001__Global__mkFit100PIXLL__RECO

~ 0.5
T S R P R

20 A R R

> 04 e R i e

> E : : : : :

& E : : : : :

R A S S

o E : : : : :

£ 0.3 renneedeeeneeee A

o E : : : : :
L e L S ot
7R SR NS S T
T

o g

E : FNT WLFS :
0.05F - ‘HHM# A R
oL_\Q:....i....i....i....i....i....
g :
o [
1-— ----------- - -9 E EEE BRI -
0ok : ! i ! :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03

0.02

4
T

068 6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


